TOPR=GAL

MONTAGEANLEITUNG
ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE

LKW-Einfahrhilfe
Floor stop parking bollard
Guide roues camion

Bitte lesen Sie vor der Verwendung des Produktes unbedingt dieses Handbuch und folgen den darin enthaltenen Anweisungen!
Please read this manual before using the product and follow the instructions it contains!

Veuillez lire ce manuel avant d‘utiliser le produit et suivre les instructions qu‘il contient!




CONTENT

ALLGEMEIN / GENERAL / Stiickliste / parts list / liste des pieces 3
GENERALITES

MONTAGE / MAINTENANCE wmontage / assembly / montage

Service & Kontakt / Service & Contact

B~ w

+49 (0)7158 9181 500 +44 (0)20 78941516 +33 (0)1 70700496



TOPR=GAL

STUCKLISTE / PARTS LIST / LISTE DES PIECES

1 1 x Einfahrhilfe Balken links / Drive-in aid bar left / Aide a I‘entrée barre a gauche
2 1 x Einfahrhilfe Balken rechts / Drive-in aid bar right / Aide a I‘entrée barre a droite
3 16 x Bolzenanker M12 x 100 verzinkt / Bolt anchor M12 x 100 galvanised / Goujon d‘ancrage M12 x 100 galvanisé

MONTAGE / ASSEMBLY / MONTAGE

Um Schdden an Gebduden und Fahrzeugen zu vermeiden, leiten zwei Stahlbalken LKWs und GroBfahrzeuge sicher und
zielstrebig mittig an die Laderampe. Die Kopfteile der Balken neigen sich jeweils um 15 Grad, das bietet bei der Anfahrt
und beim Rangieren des Fahrzeugs eine groBere Auffahrflache. Die Balken sind 2.972 mm lang, 243 mm hoch, haben einen
Durchmesser von 159 mm und eine Materialstérke von 4 mm. Sie werden mit jeweils 8 Bolzenankern im Boden verankert.

To prevent damage to buildings and vehicles, two steel beams guide trucks and large vehicles safely and purposefully to
the center of the loading ramp. The head sections of the beams each tilt 15 degrees, which provides a larger ramp area
when approaching and maneuvering the vehicle. The beams are 2,972 mm long, 243 mm high, have a diameter of 159 mm
and a material thickness of 4 mm. They are anchored to the ground with 8 bolt anchors each.

Pour éviter d‘'endommager les batiments et les véhicules, deux poutres en acier guident les camions et les gros véhicules
en toute sécurité et de maniére ciblée au centre du quai de chargement. Les tétes des poutres s‘inclinent chacune de 15
degrés, ce qui offre une plus grande surface d‘acces lors de I‘approche et de la manceuvre du véhicule. Les poutres ont une
longueur de 2.972 mm, une hauteur de 243 mm, un diametre de 159 mm et une épaisseur de 4 mm. Elles sont ancrées au
sol & |‘aide de 8 boulons d‘ancrage..

[#] info@topregal.com www.topregal.com K]




TOPR=GAL

ENDANSICHT / FINAL VIEW / VUE FINALE

. %) N .
. N >
[ Y N
Yol s ;r‘? N
B « - y
* e e N
Loag =
. » 4

¢ . !

~ v YL !
L . |
— 8x Montage mit Bolzenankern M12x100 :
8x assembly with bolt anchors M12x100 !
1

1

1

I

1

1

1

IIIIIII\II
AN

<
4
AN
I\I
AN
AN

AN
AN
I\I 4

8x montage avec goujons d‘ancrage M12x100

A

N
N

A Y
NN
\I\I\I\I
NN NN
\’\’\’
\’\’

AN

AN

z,
z,
z,
z,
z,
z,
z,

A AN
A

<
\’\’\’\’\’\’\’ |+
4
4
4
4

\’\’
ww 009¢

AN
77 z,
I\I\I I\I i

NNy

-+—— Laderampe / Loading ramp / Rampe de chargement

AVA VA WA
z,

/.

AR

AN
Y
NN
\I
\I

N
N

g
4
/,
A
A
A

<
AN
AN
AN
AN
AN
AN

\’\’\’\’\’\’
\I

s
YA NNNNN

I\I\I

\’\’\’\’\’\’\"I\’\’
AN

\’\’\’\’\’\’

\’\’\’\’\’\’\

\’\’\’\’\’\’

\’\’\’\’\’\’

\’\’\’\’\’\’
AN

\\\\’\\\’\\
AVAVA VA VA VA VWA

AR . 2973 mm

A YA Y Y W Y W}

AN
AN
AN
AN
AN
AN

1
RS 2298 mm L -
T Ie ! W’
PR I 1 0159 mm

S T —
R 250 mm
Y

-
:
R4

2500 - 3000 mm

SERVICE & KONTAKT / SERVICE & CONTACT

Kontaktieren Sie unsere Produktexperten und finden Sie Hilfe und Lésungen fiir Ihr Produkt. Hier finden Sie alle
Kontaktinformationen nach Land und Sprache gelistet: www.topregal.com/de/service

Contact our product experts and find help and solutions for your product. Here you will find all contact information listed
by country and language: www.topregal.com/en/service

Contactez nos experts produits et trouvez de I‘aide et des solutions pour votre produit. Vous trouverez ici toutes
les informations de contact listées par pays et par langue: www.topregal.fr/fr/service

Verantwortlich fiir den Inhalt / Responsible for the content / Responsable du contenu:
TOPREGAL GmbH

IndustriestraBe 3

70794 Filderstadt

GERMANY

www.topregal.com

+49 (0)7158 9181 500 +44 (0)20 78941516 +33 (0)1 70700496



http://www.topregal.com/de/service 
http://www.topregal.com/en/service
http://www.topregal.fr/fr/service 

TOPR=GAL

(#] info@topregal.com www.topregal.com )




TOPR=GAL

+49 (0)7158 9181 500 +44 (0)20 78941516 +33 (0)1 70700496



TOPR=GAL

(#] info@topregal.com www.topregal.com 7




TOPR=GAL



